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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

It was so noisy thatwe ___ hear ourselves speak.
® won’t
® cannot
® mustn’t
® couldn't
Correct Answer :-couldn't
2)
Question Stimulus :-

Fill in the blank with the correct option.

Candidates _ answer two questions from each paper.
® shouldn't
® need
®* could

® must
Correct Answer :-must
3)
Question Stimulus :-

Fill in the blank with the correct option.

Julie swim when she was four years old.

® could



® can

® might

® should
Correct Answer :-could
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Competitors must abide the Judge's decision.
® for

® at

* by
Correct Answer :-by
5)

Question Stimulus :-

Fill in the blank with the correct preposition.

The Opposition party called for the Minister's resignation the scandal broke.
® after
® across

® along

Correct Answer :-after

6)
Question Stimulus :-
Fill in the blank with the correct preposition.

I saw a few familiar faces the crowd.



® among

® between

® besides

® into
Correct Answer :-among
7)
Question Stimulus :-

Fill in the blank with the correct prepositions

We will be staying Mumbai ____ next Saturday.
® on, from
® for, from
® by,by
® in, till
Correct Answer :-in, till
8)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® He have been

® dialing your number

® since yesterday

® No Error.
Correct Answer :-He have been
9)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.



® A burden
® ofones own
® choice is not felt.
® No Error.
Correct Answer :-ofones own

10)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® A fool and
® his money is
® casily parted.
® No Error.
Correct Answer :-his money is

11)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® A ounce of
® prevention is worth
® a pound of cure.
® No Error.
Correct Answer :-A ounce of

12)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.



A calm sea
® do not make
® a skilled sailor.
® No Error.
Correct Answer :-do not make

13)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® Ifmy uncle
® will come to Delhi,
e he will meet you.
® No Error.
Correct Answer :-will come to Delhi,

14)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.

® Michael bought
® a new computer,
® and he still has the old one.
® No Error
Correct Answer :-and he still has the old one.

15)

Question Stimulus :-

DIRECTIONS: In the following question, some of the sentences have errors and some have none. Find out which part of a
sentence has an error. If there is no error, mark your answer as ‘No error’.



® Ifyou had warned me,
® ] would not have told your father
® about that party.
® No Error.
Correct Answer :-No Error.

16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
® She is the weaker of the two sisters.
® She is weaker of the two sisters.
® She is the weaker of two sisters.
® She is weaker of two sisters.
Correct Answer :-She is the weaker of the two sisters.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of
the sentence given below.

The Prince said, "It gives me great pleasure to be here this evening.”
® The Prince said that it gave him great pleasure to be here that evening.
® The Prince said that it gives him great pleasure to be here that evening.
® The Prince said that it gives him great pleasure to be there that evening.
® The Prince said that it gave him great pleasure to be there that evening.
Correct Answer :-
The Prince said that it gave him great pleasure to be there that evening.
18)

Question Stimulus :-



Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

He said, “I do not wish to see any of you; go away.”
® He said that he does not wish to see any of them and orders them to go away.
® He said that he did not wish to see any of you and ordered them to go away.
® He said that he did not wish to see any of them and ordered them to go away.
® He said that he did not wish to see any of them and orders them to go away.

Correct Answer :-

He said that he did not wish to see any of them and ordered them to go away.

19)

Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.

The grandfather said to his grandsons, “Did you not like my story yesterday?”
® The grandfather asked his grandsons if they did not like his story yesterday.
® The grandfather asked his grandsons if they did not like his story the day before.
® The grandfather asked his grandsons if they had not liked his story the day before.
® The grandfather asked his grandsons if they have not liked his story the day before.

Correct Answer :-The grandfather asked his grandsons if they had not liked his story the day before.

20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the sentence given below.

The fields are being ploughed by the farmers.
® The fields have been ploughed by the farmers.
® The farmers have been ploughing the fields.
® The farmers are ploughing the fields.

® The farmers have ploughed the fields.

Correct Answer :-



The farmers are ploughing the fields.

21)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Kindly do not smoke in public place.
®  You had been requested not to smoke in public place.
®  You were requested not to smoke in public place.
®  You are requested not to smoke in public place.

® We are requesting you not to smoke in public place.

Correct Answer :-You are requested not to smoke in public place.

22)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Can I solve these sums?
® Can these sums be solved by me?
®  Will these sums be solved by me?
® Shall these sums be solved by me?
®  Would these sums be solved by me?
Correct Answer :-Can these sums be solved by me?

23)

Question Stimulus :-
Fill in the blank with the correct option.

They have money, so their daughter cannot pay her tuition fees.
® few
® the little

® alittle



® little
Correct Answer :-little

24)

Question Stimulus :-
Fill in the blank with the correct option.

There are _____ slices of cake left over from the party.
® few
® afew
® the few
® little
Correct Answer :-afew
25)
Question Stimulus :-

Fill in the blank with the correct option.

rays of sunlight pierced the smoke.
® A few
® Few
® Little
® The few

Correct Answer :-A few

26)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.



What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What is the meaning of the word ‘raiment's’ used in the first line of the paragraph?
® Attitude
® Wealth
® Clothes

® (Cars

Correct Answer :-Clothes

27)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night

parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

Out of the given options, what would be the most appropriate Title of the passage?
® Pride in national heritage
® Patriotic youth
® Playing to Western Tunes

® None of the above
Correct Answer :-

Playing to Western Tunes

28)



Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern’.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night

parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What does the world “slang” mean?
® A Kkind of language
® A kind of fight or combat
® Accessories

® None of the above

Correct Answer :-A kind of language

29)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

What does the phrase ‘obsessive aping of the glittering West’, used at the last of the paragraph suggest?

® Hatred for western culture.

® Blindly copying the west without being able to distinguish clearly between the positive and negative aspects of western
culture.



® A desire to settle abroad.

® None of the above.

Correct Answer :-Blindly copying the west without being able to distinguish clearly between the positive and negative

aspects of western culture.

30)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Where do you think revealing raiment's, weird slang and our youths' dismaying attitudes come from? Very obviously they are
the results of attempts to emulate the western world. Probe into the subject, delve into its various effects - you will be shocked at
how rapidly Western culture is corroding our culture - exclusively ours, exclusively to be proud of, to rust. These spicy sauces of
Western culture surely flatter the palate, but in course of time won't they canker it too?

Western countries do have desirable elements worth copying. But are we taking in those positive elements? No, we seem to be
merely diving into the external glitter of the West. The root of all this misfortune lies in the soil nourished by the word 'modern'.
What does 'modern' mean to us? Do we become modern by wearing outrageous clothes that make us look like aliens? Does
modernism set in by profuse use of western slang? Life for today's youth means rocketing in BMWs or piercing flesh, late night
parties, and black nail enamel and red mane. That is what a good percent of our younger generation have become, as a result of
the obsessive aping of the glittering West.

Why does the author describe the clothes as ‘outrageous’?
® Because the clothes are so unusual or strange that they seem to shock the onlooker.
® Because the clothes are so attractive that whoever sees it gets carried away.
® Because the clothes are so expensive and gaudy that everyone feels envious.

® None of the above.

Correct Answer :-Because the clothes are so unusual or strange that they seem to shock the onlooker.

Topic:- Hindi
1)

Question Stimulus :-
fFafafEaa T & AFYde Ted] I A @3 T sgfawalt wxAl A I8 e &1 9 #é)

HRAad § ATHT § &l e DA gH & ¢, I Sid 3R @ & o g yoiey @ wina iR A=
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* TNM R Iq=T AIfgADRI Bt

o amrel B

* WN[M R a0 axDI P
Correct Answer :-ST[d 3R a7 IieaPpRI B
2)

Question Stimulus :-

fFafafaa T @ aFYde Tew) I A @A T sgfawalt vzl A I8 e &1 e #8)

HRAH A BT § &Y 3M® SR IH & §, 32 die R wEa & g g golu @ winpa ok 3=
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AIRUSR T TH T 82
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o YT Yol BT HH HdT &

* WHI-THN & foQ wifee St Ta=1 ovar 3
Correct Answer :-3®13{f 3T id 3R T3 oY fRR g=1a1 3
3)

Question Stimulus :-
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Correct Answer :-§f3 iR a&

4)
Question Stimulus :-

Frafafad T o wryde yeer 9P H Ry T sgfawad uxAl ° W fiwer &1 T H30
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Correct Answer :-gcg 3

5)



Question Stimulus :-

Frafafad T o wryde yeer 3P H Ry T sgfawadt uxAl § W fiwer &1 T w0

YRATY § TP § Wt 3R BN gH I8! 8, I8 dig 3R IREA & g g quiey | wpja o aa=
RIS RI B ATIRTDT 81 3T B prait 3 Rt g3 smwurait &1 Afia ik fRR 791 &1 $19 39
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AR Al B gd ©9 I ¢al 82
* AW 3R Ffa

Correct Answer :-33@® 3R $fa

6)
Question Stimulus :-

fFafifEa ST & AFyde dgat S A 3 T agfamedt u=xAl | Wl fawer &1 9949 +¢1

Bem-fife-a & giareh agad,
STEHY STEl 3, I6 A PIH-AT 32
R o udf d xelt w@ T R,
HAR H1 RRAM, 95 3 9 91 32
g4t el &1 foraq gyw s,
Riféra fpar gurT, 98 371 H19 AT 82
BIST TR quraq 1w & e &,
9% W AT S5l UR 9% o B AT 82
7 T g ot yrE WA et 3,
AEA-HRT AR, I8 o DI AT 82



o et o= Wit e o @,
3 WS 941 G311, I8 A I A o?
A B WS Vaw wyd Prrd
YRd Ryara goin, 98 371 HI9-91 32
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* YRA P GYfG qUT U YT B
o YRAAIRTEl & o™ =R &
o UIpfa® A<y auT YR &1 Hgrar ot
Correct Answer :-UiHfa® Hied U1 HRdTal B 7T B

7)
Question Stimulus :-

fFrafafa s @ aryde teer 39 4 3 T sgfawad uwal d I8 faven &1 99 &1

FreH-fifv-a=t # gRarh agadl,
TGHY STEl 8, I8 O PI-T 82
Rrad o udf § xelt w@ Tt R,
AR &1 RRWMP, 98 331 314 491 32
g4t Rl &1 foraq gyw sEm,
Rrféra fear gurT, 98 31 Hi4 491 82
BIST TR qUIaq e H fiar &,
9% W AT SIgl UR 9% &% B AT 82
f: T g 9t wig M et 9,
TEHU-HRA W, 98 o P |1 82
e e o= i e R B,

3 99 a1 Wb, I o P9 AT 82
T Pife WIS Fa& wyd forad



YRd Ryara gol1, 98 o Si9-91 82

BIST TR JUIEe ST § a1 &1 399 IW F 9 o for faxdivan Y 3iv Wda fvar mar g2
o fogufed  vaw
o ¢fiRar g fomrgran
o fUqufea g smgmaTiaT
o faHan
Correct Answer :-fiqufda T smmeiar

8)
Question Stimulus :-

Frafafea s o wryde ygar 39 i 3 T sgfawad uxal § I8 fave &1 99 &1

FreH-fife-a=t # giareh agadl,
TGHY STel 8, I8 & P-4 82
R ora o I et w8 Ut B,
TR $T1 RRMP, 98 37 S 491 32
g4t Rl &1 foras gyw s,
Riféra fear gurT, 98 31 Hi4 491 82
BIST WIS qUIaq 3¢ fiar &,
98 M UT T8 U 98 o P |1 82
7 T g ot wiE v =eT 9,
TEHU-HRA WG, I8 O P AT 82
e e o= & e R B,

4 WS 941 a1, I8 o DI AT 82
AT Hife WIS Jae Aqd Rrad
R Ryarg goll, a8 31 SH-91 82

BT BT BT UG 7?2



<& T URT
WG ied o1 R
& 71 gfoera
39 B AP a BT I@

Correct Answer :-31 &1 JURTH

9)
Question Stimulus :-

Frafafa s @ aryde yeer 39 i 3 T sgfawad ual d I8 faven &1 99 &1

HeH-fifv-a= # gRarh agadl,
Ty STEl §, I8 I HI-91 82
R o udf @ xelt w@ T R,
AR &1 RRWMP, 98 331 &1 491 32
g4t Rl @1 foraa gyw sFm,
Riféra fbar urT, 98 31 I AT 72
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: wrd g W wig WS et g,
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YR Ry g, a8 3”1 H1H-91 82

ST § HRT P SwE fpait aard 18 82
o I W
. Tl TS
e A FIS



° I IS
Correct Answer ;96 $R0S

10)

Question Stimulus :-

Frafafaa s o wryde yger 39 i 3 10 sgfawad uxal d I8 fave &1 99 &1

Beq-fiR-a=t & shareh agwd!,
TGHY STel 8, I8 & P-4 82
R ard o § wxelt w TR R,
WUR 1 RRAM, 98 39 S 971 82
g4t Rl &1 foraq gyw s,
Riféra fear gurT, 98 3 Hi4 491 82
BIST TR JuIad AT & e &,
% I YT STE1 UX 96 4 S A1 82
7w g ot urE v =eT 9,
TAEGHU-HT WG, I o DI AT 82
foreger <@ o= il e R g,
d S 941 a1, I8 o DI AT 82
AT Fife UTE Y9 Aqa s
YRd Ryara goin, 98 371 HiF-91 32

AR &1 RRIWT 331 {6 qaran 32
o WP
* YRd
* S
* AUTd
Correct Answer :-HRd

11)



Question Stimulus :-
Y U 5 Wg-9E | 8-
* gurF, gus
o T, TG
o T, TR
* YR, U™
Correct Answer :-U%R, 999

12)

Question Stimulus :-
3" U fPu e wHE F 6 B
o e, IGgH
* dqH, A
* qTEw, qTPTEL
* JWERT, dg=Id

Correct Answer :-49Tgwid, dTHTIAGT

13)

Question Stimulus :-
“HIA qeg ® SIF-TT UUT 82

* HF

o
&t

o 3iit

Correct Answer :-3it

14)

Question Stimulus :-
fFafafaa 3 @ 19-971 s TIagad 32



TR
* ATR
* FHINR
* 3R
Correct Answer :-aiTR

15)

Question Stimulus :-
W% B qAr # @A F e w8 geraw 8-
o THH T T
o CigH @
o YU UEF 3§ ST
o U IJARAT
Correct Answer :-2ig & g1

16)

Question Stimulus :-
IR I gaATgal IS YeTaR BT Wl 31 8-
o Tl & T
® TSR ST
* qTg T &
o FIfT g
Correct Answer :-98T ST

17)

Question Stimulus :-
" IGURATS SUfRT FHRM YT Ie AT HIA BT YATH Hal 81”7 ¥@ifpd ggraw o1 4 8-

e WP HaER & fars




o wrd gff
o fayraa
* FTd IqeA BT
Correct Answer :-ward gfd

18)

Question Stimulus :-
fea T ari & o U =g @1y Fifere-
HHhel ¥ WY IR P A arer’
* DEHTH
* HUTHIHIVI
* HHEY
* B
Correct Answer :-HuHPIof

19)

Question Stimulus :-
e T arr & e U@ et 1 yaT Sifre-
T WM IR IR w9 § g arar

o Tyt
* TFEUA
* WWAMY
o vl
Correct Answer :-®JHEMAd

20)
Question Stimulus :-

R ¥ ¥ Ud® WU F 16-16 AETE R 3id | = 8T 21 9€ DeAdT -
o diel



Correct Answer :-3Urg

21)

Question Stimulus :-
35T Bg ¥ afa Pl g 31
° TT P 3dH
® U 3d H
* 24 A & TG
o T I DI T
Correct Answer :-@U & 3id &

22)

Question Stimulus :-
g & gRT 91T &1 U7 § G ghm-

o firg Ararsit
o goraT wrETSh
* 3ITeRUNY HTATSH
o Iudad 9t
Correct Answer :-Jaar qrdrei!

23)

Question Stimulus :-

g ¥ ¥ 3z ad- &1 99 Fifu-
° aﬁ&-ﬁ
° IR



o I e
* J3ifued
Correct Answer :-3Rg

24)

Question Stimulus :-

A Qe ad- &1 99 Fifore-
* 3THg
o i
o ey
* g
Correct Answer :-3gd

25)

Question Stimulus :-
IR TRarR &t wg@ T 2-
o dffa
* gsI
o fasdt
o Wl
Correct Answer :-gs1

26)

Question Stimulus :-

AADTd P Pl URIg TTT SATRT fbg YT # 82



o gudlt
Correct Answer :-gcal

27)

Question Stimulus :-
& | aiet @1 gatgard T8 8-
o i
® TGYUMHT
°* TR
. T
Correct Answer :-3g

28)

Question Stimulus :-
‘wraw’ Fu # ¥ fPuer wafgarh 3-
* Fad
* PER
e WH
o T A K T
Correct Answer :-&d+

29)
Question Stimulus :-
3T’ BT Tgd e 8-

* T

o IRy

* 3y



Correct Answer :-g3!

30)

Question Stimulus :
“IgaH’ BT a8 W 8-

* YU

o y§H

o Y™

* 3@uUE
Correct Answer :-yafys=
31)

Question Stimulus :-

"gSdS’ FT TAN v §-
¢ SIS
RIERES)
uigt 1 A
T @ B T
Correct Answer :-9isi 31 4

32)
Question Stimulus :-
‘et BT | e B-
® 3G+ 3d
® 3+3id
® J3Gl:+3(d
® 3R+
Correct Answer :-3/[+3id

33)



Question Stimulus :-
wea # wged i -t 22

o gur Ay

o & Wiy

o gfF wf

o 3mre Wiy
Correct Answer :-gfx |f¥

34)
Question Stimulus :-
fFufafea 6 st & @ wyw g sifow Fifda &, Av o1 S ww A gafeya Fifvm)
(1) R
(9) &1 Fol MUF
) fagm, gfSwm qur ary Ty
() y=aH1 SR FaryTRay
(@) BT &
(6) TR AHR B §

* ¥TAY

* ¥IFAT

* @AY

e dYgXq

Correct Answer :-7d3 qg

35)

Question Stimulus :-

- fafea 6 arei=i & & wuw g sifaw Fifda 8 v o) Sha w0 A sgafeua Fifm
(1) Wa HRA BT

(@) FEife ot it faene § 9 wa

(X) ST SR ST IV $7 R



(&) vl S amet faenffal e @
(9) W YRd & ARRS g 9T HRd Bt
(6) iR BraT 8

e gAIT
e Y4dYd
e IAX
® gITAY
Correct Answer :-99dv

36)
Question Stimulus :-

~&U I 79 5 g1 37 39 ufR § e T -
o &
e Tq
e &I
o o gHI
Correct Answer :-q1

37)

Question Stimulus :-
“ER-UHC FaI T& dRI-UC HUT AN 39 Ufd & &9 T PR 8-

* JUHT
* FUP
o IJA&T
o yifqw
Correct Answer :-U®

38)

Question Stimulus :-



fru # ¥ g5 ar sifee-
* & TE B B ¢
* &4 UE B HI 8
* Ig P gHA AT ¢l
* TN EH U8 MW gl
Correct Answer :-g# 9% &1 &1 5l

39)

Question Stimulus :-
fru § § gg a1 sifte-
o TSI A uA feram
* Jg FHfgar HaR A foraT 7l
o ARe U= & foram
* I ¥qP Ug I T
Correct Answer :-97d1 §® ¢ gt gl

40)

Question Stimulus :-
A dfemal &1 daaor Sifse-

YRd A forg +ft gw= faar mar, 3 3= foaR) g wRa Y 9 )  HEMdT a9 3ifiofa &1 ST 9 IeuTe
BleHT gl g W aﬂmaﬁmﬁnﬁmaaﬁ?ﬂm%m%w%maﬁalﬂa’fﬁnﬁﬁﬁl

e IqT sitaw 3 faaR
* gl T8 981 T8
o AfFHar T g
* WA
Correct Answer :-3Tql Silad 39 faaRr

41)

Question Stimulus :-



T | PH-41 fAPper arat I et ¥ 7 ave e 82
o Tfa
* A
o Hig
o e
Correct Answer :-Tg1

42)

Question Stimulus :-

a1l Tsg ‘o1 & forw A & @ we o 8, A Fifvr-
. fig
* UH
o Hifers
. w#
Correct Answer :-A1fi/®

43)

Question Stimulus :-
fraffed sew-faets gt § 4 9% 0@ g™ |8 76l ¢, 997 Pifore-
* REPRGS
* R&R-I&Epd
e UU-yUg
* URT-SrY
Correct Answer -3 R-T&@d
44)

Question Stimulus :-
fFafafaa seav-faw gt ¥ @13 v g 98! 8, 9a= Bifre-

* FU-HIAl



o PUU-TRIE
o FrU-PUT
o AP

Correct Answer :-®IU-$ul

45)

Question Stimulus :-

fora, =7, Sus @ T B ¥ g e fovm fRig &1 vk e s &-
o YIS
o fomaIfestu®
o qof fiRm
* 3y favm
Correct Answer :-fawmafestus

46)

Question Stimulus :-
o & A Teor §-

o Ygadl

* HHMA!

* UIEd

o lad
Correct Answer :-Udad!

47)

Question Stimulus :-

w1yd o1 @71 R T § wANT BT 82
o R

* YR



* YYH® 9
o %W
Correct Answer :-§iIR 3

48)

Question Stimulus :-

w9 9 ¥ gft Juesd d@ U= ARk o & arter I g o g, 9 39 RS B w1 wed @2

o JIYRUHIT
Correct Answer :-UryRufieIor

49)

Question Stimulus :-
gdeia Aurd) fArmar @t s A g A 1 8-

« TR
* &l B Bfar
o fErR
* e
Correct Answer :-Sgl @t Bfa

50)

Question Stimulus :-

et &1 =g F & 9 g
o HF P erad
o I8 & qu

o 3Rt



°* WO
Correct Answer :-d1% &1 gad

51)

Question Stimulus :-
HAYST BT Ul HATRIS THER T HIH-T 82

* quitad

o g

* Y faar

o T A IS Tl
Correct Answer :--asilaq

52)

Question Stimulus :-
e wgelt ®1 T W gFe-
“T@ ISt | & W 3T g

* HTHI

* el

° 3fST

o U | BIg TE
Correct Answer :-3fsT
53)
Question Stimulus :-

g ugelt &1 I SR ghe-
“HId TRTS, I 31 IR I3 O T T111”

'§§'I'\‘F-[
* TRUYW

® dr



* AWHN
Correct Answer :-gs4Jy

54)
Question Stimulus :-

Yot ST+ + T+ IHM+T+E BT Y& a1t QT gRTI-

o TH I DI Tl
Correct Answer :-uigret

55)
Question Stimulus :-
9, T, ¥, 9 SR &-
o TR o &
o wxif-Fudf v &
o udf e &
* AT T P
Correct Answer :-¥if-dudf e &

56)

Question Stimulus :-
e o & We-gm & 3rf-ig A | HF 91 T 22

* Tdg-oleg = dIGA-]IY
* Srar-sarel = f3eit-aue
* TBI-FST = WM | A BIST AT-Sil T=T 7 g

o F3T-3M = AR-gaqd



Correct Answer :-J3{1-5[3MT = dRI-gdd
57)
Question Stimulus :-
“IYH-IBHY”’ Xeq-giH BT Tl 3rd-g ghm-
o S} T YT BI- St Pl o D
* Y qTAI-He arel
* Sl T Y&Hdl gI-il Hel 7 ol b
o S} Yyl gI-Sil HgT S b
Correct Answer :-Sf 7 Y&dl gl-sil gl = ol AP
58)

Question Stimulus :-

e A 9 I e & gUETS v BT 99 Pifoe-
o ufia®
. R
o uTHieH
* WRIUPRY
Correct Answer :-3[HTdiah

59)
Question Stimulus :-
frufafea a9 9@ Yaifeq g & Famd W &1 997 Fiforg-
“ReseRad HT g8 ITed 21
o firqery

* JUagy



Correct Answer :-3Uaqg

60)
Question Stimulus :-
o YD TYEY BT
* HUGH dYEY Bl
* UM TYFY BT
o FU TUFY FI
Correct Answer :-3UigH di&y &1

61)
Question Stimulus :-

UTETESY Weg BT THW fauE 2-
* A P MSI
o T ¥ M
o WA & forg M
* HTA R WS
Correct Answer :-A1d & foe st

62)

Question Stimulus :-
ora o & 9t uel & = 3’ W F1 w@Iv IEaT 8, 98 JHH 8-

* TUEY THNE
® JHIER §& HHI
o favd Tgdife Tu™
* TN §§ GUH
Correct Answer :-3aa &5 99N

63)



Question Stimulus :-
e 9T # @ Iva 919 &1 9| Pifore-

* I8 @M @I |l T[T
e Ig 78 7WS ¢
* IuYa Il
o T A B TR
Correct Answer :-3g #3 (W& @

64)

Question Stimulus :-

TR G’ arey | PIH-91 oA 32
o &g arn
o FHH arH
* UG A
o T A T TR
Correct Answer :-&q ard

65)

Question Stimulus :-
"SregaETdl’ H1 St gaiy 3-
® Apprise
® Appraise
® Assiduous
® None

Correct Answer :-Assiduous

66)

Question Stimulus :-



HRIE oY IUgE W 8-
® Mention
® Modification
® Manipulate
® Manifesto
Correct Answer :-Modification

67)
Question Stimulus :-
*STeT -1 Ugd XA 981 ugd ofa deifaa &1 o orf 82
o ofd & o oo ft spr &Y
o 3fy fRgu AT
o B HegThe gt @
* Hfd YT G FHaT 3
Correct Answer :-$fd Heu-Tid gidT &

68)

Question Stimulus :-
AT A w8 T 3 & forw el Aiwifad &1 w82

* TR FT WM RSP Pl WG
o TR B it oft a1 foram
o fIwlt & UTT | St ger
o TR & T H I
Correct Answer :-fd&ft & YT | ST ger

69)

Question Stimulus :-
3T TR ST’ ApifaT &1 I 3 g2

o forelt 9t 7ot g gl §



o wrdff ameHt gEY Pt fiaT A8 FRar

* U PIeAT SE =MRY

o AU TR Sl §
Correct Answer :-araff et gav @t fiar 18t san
70)

Question Stimulus :-

AR & R[S HTT BT TG PIoTL-
* IFT U
o fdars & SUwE A
* gad
* PIS 3fe Tl
Correct Answer :-faarg & Suae™ o

Topic:- General Knowledge
1)

Question Stimulus :-

Which among the following States is known for Sandalwood? / fafafaa # @ @19 91 Is9 9T
P18 & fore =T = 32

* Odisha / 3=

® Madhya Pradesh / H¥Y ST

® Goa/ a3

e Karnataka / HAlCPH
Correct Answer :-Karnataka / ®Ic®
2)

Question Stimulus :-

Match the following and select the correct answer from the codes given below: / ra &t

firemg sk = RRE 7w Fiel # A 98 I &1 9T B

List-I List-1I1



1. Sikkim a. Kohima

2. Rajasthan b. Bhubaneshwar
3. Odisha c. Jaipur
4. Nagaland d. Gangtok
gfa-1 gfa-11
1. fufepa a. difgHT
2. IR b. YaAR
3. IS C. SIqYr
4. ATTAS d. el

® 1-d,2-c, 3-b, 4-a

® 1-d, 2-c, 3-a,4-b

® 1-c,2-d, 3-b, 4-a

® 1-d,2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

Where was 18" South Asian Association for Regional Cooperation (SAARC) summit held?/ 184ai mI'UT 'Q'ﬁ'l'q'lg

AT e TS (ATH) Pel 3T U1?
* Kathmandu/ ®TSHIG
e New Delhi/ T8 faeeht
® Islamabad/ SXCITHIdTG
® Dhaka/ GIPI
Correct Answer :-Dhaka/ Gl
4)
Question Stimulus :-

Seaweeds can be used as : / WWWWWWWW%



1. Food / 3 2.Fertiliser/ 49iq 3. To remove undesired nutrients from water / U #
SUERTt Tiue dadl HI e & e

Select the correct answer from the option given below: / 9 fawel § 9 9 SW &1 797 I
e 1and3/13R 3
® 2only/ Fad 2
® 3only/ ¥ad 3
e 1,2and3/1,2 3R 3
Correct Answer :-1,2and 3/ 1,2 3R 3
5)

Question Stimulus :-

MS applications are examples of / MS SR & W?l
® Platform software / WeHIH JIFeduR
® Hardware / B'Iéa'q?
® Operating System software / STRTET e Jivedur
® Application Software / STRIHRA ATFdaR
Correct Answer :-Application Software / SRS TR

6)
Question Stimulus :-

_____is the smallest gland in human body. / ___ HTd IR | I Bt UfY %I
® Parotid gland / W hfy
® Apocrine sweat gland / Rravardt witar ufy
® Apocrine gland / 3Tt UfY
® Ebner’s gland / SR 3 Uy
Correct Answer :-Apocrine gland / 3TETal Y

7)

Question Stimulus :-



Which is the longest river in India? / HIRd A 999 adl qﬁ CaC k| %?
® Brahmaputra / 814"
® Ganga / T
® Godavari / Tﬁiﬁﬁ
® Narmada / T'IﬁET

Correct Answer :-Brahmaputra / 14

8)
Question Stimulus :-

The Salal Project is on the River VA GIGR ER IR o T R %l
® Chenab / AT
® Jhelaum / F&H
® Ravi / 4t
® Sutlej / e
Correct Answer :-Chenab / S99
9)

Question Stimulus :-

Which is the largest State in India by area? / &3 & Hdlfa® YRd ® ®I9 T 5T a4 TT 82
® Madhya Pradesh / H& =T
® Maharashtra / HgIRTY
 Karnataka / BICH
® Rajasthan / XTSTRYTA

Correct Answer :-Rajasthan / JTSTRITH

10)
Question Stimulus :-

Where is the Central Food Technological Research Institute located? / F=g @ Menfrt SIHUTH AR
ol A 32



® Bangalore / SR
® Chennai /998
® Mumbai / 'ﬂﬂg
® Mysore / ﬁa:\r
Correct Answer :-Mysore / A3

11)
Question Stimulus :-

Which of the following states is NOT an the border of Gujarat? /ﬁ"i[ A A oH I oiRId 1 T qﬁ' %?
® Telangana / GERIE]
® Maharastra / HEIRTY
e Rajastan / ITSTYT
e Madhya Pradesh / HH] 'FI%"x’T

Correct Answer :-Telangana / dE T

12)
Question Stimulus :-

Which historical place is a small village in the Navsari district of Gujarat? / Capk:| Qﬁsﬁm BT IoRTd &
TauRY forel § o Bier w1 ia 32

Chauri Chaura / ¥} RT
Malgudi / ATERIST

Dandi / E'Iﬁ

Noakhali / I 3RETelt

Correct Answer :-Dandi / g[Sl

13)
Question Stimulus :-

Which is the second highest mountain in the world? / ﬁ"a’ DI gHRT Jad ST gdd AL A1 %?

® Mount Everest / @W qdd



® Kangchenjunga / IS

° K2/

® Dhaulagiri / et
Correct Answer :-K2/ &2
14)

Question Stimulus :-

Where is International Court of Justice located? / &I?R?T@'q gy ﬁ‘f R« %?
* Hague — Netherlands / 87 - Higzagd
® Cape town — South Africa / %Y TR& - ARFY AMHHT
* Geneva — Switzerland / 4T - RaeeRds
® New York — USA /< 9T® - . TH.T
Correct Answer :-Hague — Netherlands / 37 - fleragd

15)

Question Stimulus :-

India was part of an ancient super continent called Gondwanaland. It included present

day . / HIRd MSATFTAS TS TP YT HETEIT P 39T AT addr=T_ B
A AT

South America / E,"f?.-I'UT 3T

Africa / 3P T

Australia / 3fiRgferar

All of the above / Swiga @it

Correct Answer :-All of the above / SR Tt

16)
Question Stimulus :-

What is the traditional colour of the jersey of the Indian national football team? / YR ?T@'q W’Tﬁ da #
ot @1 yRTufYe @1 @ 82

e Sky blue / STHHTAT i@r



® Green/ BRIl
® White / §d
® Red/dld

Correct Answer :-Sky blue / SITHHTAT e

17)
Question Stimulus :-

2014 Hockey World cup was won by? / 2014 ¥ gT®! acs &4 fraq siiar?

Australia / 31‘1"\%%111
Argentina / Srof AT

Netherlands / ﬁaﬁ?m

India / HIRd

Correct Answer :-Australia / 3T el

18)
Question Stimulus :-

In the international cricket, who is the highest test match wicket taker in the world? / GI'_VR'I'@TI' fpdbe A, '@'

fay & e A9 & W 31fe fade & aren o1 &2
® Anil Kumble / 3f-1d faat
® Muttiah Muralitharan / JAUT TR
e Glenn McGrath / 79 A%
® Shane Warne / R ar

Correct Answer :-Muttiah Muralitharan / gﬂm 'ﬂ?_cﬂm

19)
Question Stimulus :-

The name of Sachin's autobiography is . / TfeF & ATHBYT HT 719 %I
* Wings of Fire / fd™ 3if®w BRR

e Playing It My Way / WS 3¢ A d



* The Story of My Experiments With Truth / & TRl 3% U1 TaauRAey Ay 59
e Jeet Appki / Siid 3MUS!
Correct Answer :-Playing It My Way / Wg 3¢ 49 d

20)

Question Stimulus :-

Who has won the 2016 National Snooker Championship? / ?T@'q HbY uferaifrar 2016 g it %‘-’
e Siddharth Parikh / RigTd i
® Pankaj Advani / GBS SIS
® Aditya Mehta / C’rﬂﬁﬂ ﬁ??IT
® Mahesh Yadav /'FI%'QT Yled

Correct Answer :-Aditya Mehta / 3Tf¢ed AgaT

21)
Question Stimulus :-

According to RBI guidelines, the term “Bulk Deposit” is used for single Rupee Term Deposit of / GI'RQ)IGI'I% &
, g ST UG &1 SUUNT__Udhd $udr o1 & foe gar g

® Rs. 25 lac and Above / Rs.25 ARG 3R 39S SR
® Rs. 75 lac and Above / Rs.75 ATE 3R 3P FWR
® Rs. 1 crore and Above / Rs.1 Tva?{ 3R ITP SHW
® Rs. 50 lac and Above / Rs.50 @IRG 3{¥ 3P HUWR

Correct Answer :-Rs. 1 crore and Above / Rs.1 m 3R ITP FWR

22)
Question Stimulus :-

Where was the first hydroelectric installation in India was installed / HIRd o g9 q@ﬁ' gfasTell RITTAT H3 TH
4 2

® Mumbai / §a§
* Panaji / U



® Darjeeling / qIfofferT
* Kolkata / HIAPTdl
Correct Answer :-Darjeeling / GIfolfei

23)

Question Stimulus :-

Which of the following is NOT a kharif crop? / fFafeifaa & @ #19 te @dw wad A1 82
® Jute / VJC
® Maize / HIDPI
® Mustard / Il
® Rice / dMdd
Correct Answer :-Mustard / I3

24)

Question Stimulus :-

Who said ‘Supply creates its own demand’? / foa we1 i “errqﬁ, @Y Ut AT FAT %"?
® Marshall / ATl
e J.B.Say /.9 ¥
* Adam Smith / TSH fR1Y
® Ricardo / XTSI

Correct Answer :-J. B. Say / 9L.&1. &

25)

Question Stimulus :-

The women regiment of INA was founded under / 3{T9llg %3 tﬁﬁ | TI'%FIT YT B RITYAT s——ﬁ? 3afd Eé 4t
e Capt. Laxmi / & A&HT

® Aruna Asaf Ali / 3[¥UI TP 3l

® Anita Bose / 3<dT 919



® Rajkumari Amrit Kaur /ﬂw STHd PR

Correct Answer :-Capt. Laxmi / ST d&Ht
26)
Question Stimulus :-

‘Who among the following was awarded the Bharat Ratna in the 215t Century? / g "3 21‘cﬂ w A 5 URa
¥d | T fomam ma ar?

® Amartya Sen / 3t |

® Bhimsen Joshi / mqﬁﬁ'-‘lﬂ

* JRD Tata / O.3MR.8 ereT

® M.S. Subbulakshmi / TH. T, gega&Ht

Correct Answer :-Bhimsen Joshi / {1 =i

27)
Question Stimulus :-

Find the odd one out / faw® qrem ﬂﬁ"fa
e Bhimsen Joshi / HHAT S
® Subhas Chandra Bose / JHTY Tg N
* B.R. Ambedkar / §1.3R 6P
® Mokshagundam Visvesvaraya / ﬁ&ﬂﬂ@'ﬁ fasasgan

Correct Answer :-Subhas Chandra Bose / JHTY % 919

28)

Question Stimulus :-

Who was the first woman in space? / 3faive o ygdl Afgan P A2
® Kalpana Chawla / AT dTddl
® Sunita Williams / ﬁ=ﬂ_¢|T fafera=y

e Sally Ride / Tl IS8
® Valentina Tereshkova / del=a 14T ﬁﬁaﬁiﬂ



Correct Answer :-Valentina Tereshkova / Ae=c 19T A¥TPIdl

29)

Question Stimulus :-

Who is the current Supreme Leader of North Korea? / 3XIR PHIFAT BT gIHTE Fal= AdT B %?
® Kim Jong-un / foru i 34
e Kim Jong IT / fp® W17 11
* Kim II Sung/ f6® 11 g
. KimTuBong/ﬁ‘qua-T"T
Correct Answer :-Kim Jong-un / f&® ST 39

30)
Question Stimulus :-

Who among the following is Chief of RSS? / frafafaa # 9 P RSS & 31 %'?
® Pramod Muthalik / WHIG H?Im
° LKAdvani/Eﬁa?GlgaFn
® Baba Ramdev / dTdT ?T:l%a
® Mohan Bhagwat / 'FﬁBT'T HRTdd

Correct Answer :-Mohan Bhagwat / HIg HRTad

31)
Question Stimulus :-

Which is the biggest country in the world by area / &qm H ﬁ"!{ P 999 98T a'QT P9 T %?
® United States of America / Hgad I Saf®T
® China /94
® Russia / ¥YH
® Brazil /a'lT.rﬂ?l'

Correct Answer :-Russia / &H



32)
Question Stimulus :-

What is the maximum permissible time gap between two sessions of Lok Sabha? / APAHUT & &l 9l & d"

fFaH THY SavTd fba-T giar g2

e lyear/1d¥

® 6weeks /6 UKl

* 6 months /6 TG

e 60 days / 60 f&
Correct Answer :-6 months / 6 HgIH
33)

Question Stimulus :-

The Preamble to Indian Constitution is based on the “"Objective Resolution” introduced by

-/ YR SR # STRPT "I JHeu” W AMuUtRd 8 St 399 §RI Uwafad fbar war 41-
® Mr. Rajendra Prasad / 9} IToi=5 U9TG
® Mr. Jawahar Lal Nehru / 9t STaTgR @19 g%
® Mr. B. R. Ambedkar / I 1.3[R. 3rAg®H
® Mr. Vallabh Bhai Patel / Y g HTS Ul
Correct Answer :-Mr. Jawahar Lal Nehru / 8 STaTgR @Td A8
34)

Question Stimulus :-

In the Panchayat Raj System, the 'Panchayat Samiti' is constituted at the level of the ./ UEILCIRIE]

yurrert &, Uaradt |fifar &1 T4 59 WR W fhar @ |
e City /&R

® National / ?rgh

® Block / SAIP

e Village /7T



Correct Answer :-Block / TP

35)

Question Stimulus :-

If a new state of the Indian Union is to be created, which one of the following schedules of the Constitution must
be amended?/ﬂ'ﬁ{WWWWWWWWW%@W‘E@WWH&WWﬁ
Ty forar ST anfee?

® Third /g

® Second / %?ﬂ'q

® First /UYH

e Fifth / GTadl
Correct Answer :-First / UYH
36)

Question Stimulus :-

All Ministers at the center are appointed by / &g A gt @it at ﬁ'ﬂ'ﬁ[ Etla? a1 Eﬁ?ﬁ %

® The Prime Minister / WHUTTHI

® The President /?Tg'qﬁf

® The Vice-President / mﬁf
® Home Minister /"]Eﬁ

Correct Answer :-The President / ITgUfd

37)
Question Stimulus :-

Which famous musician is believed to have invented the Tabla? / aﬁ-—r ﬁ m W’ﬂ?ﬁﬂ? 3')3[ ?‘Wﬁ DT ofdDh HTHAT
SITdT 82

® Tansen / dTF98A

® Mirza Ghalib / ﬁﬁff e

e Amir Khusrau / 3R ga=

® Faiz Ahmed Faiz / Bl 3gWg bl



Correct Answer :-Amir Khusrau / TR Ga&

38)
Question Stimulus :-

In which among the following states is the Indus Civilization city Lothal? / fadafeasad ﬁTH WAl dI
TR AU B2

® Karnataka / HAlCPH
® Rajastan / TSI
® West Bengal /qﬁfq CUIG]

® Gujarat / [SIRTd

Correct Answer :-Gujarat / ToRTd

39)
Question Stimulus :-

Pakistan became Independent Nation on . / urfear C| TP Wdd MY 971
® 14 Aug 1947 / 14 3T 1947
® 15Jan 1948 / 15 Sail 1948
e 15Aug 1947 / 15 3T 1947
® 14 Aug 1948 / 14 3T 1948

Correct Answer :-14 Aug 1947 / 14 3% 1947

40)
Question Stimulus :-

In which place did Ardh Kumbha Mela begin in January 2016 /

A 2016 T HEl W 3 FH BAT JRY g2
e Shirdi / RRS!
* Ujjain / I
® Allahabad / SCllgdlg
® Haridwar / Gﬁﬁﬂ'



Correct Answer :-Haridwar / RgR

41)
Question Stimulus :-

Which film actor won Padma Vibhushan award in 20162 / T ftrem srfyqar + 2016  usr HYUT YR¥PIY
SikIE

® Chiranjeevi / BRI
® Shahrukh Khan / RMMged W1
® Salman Khan / HHTH W4
® Rajinikanth / ISHIwid
Correct Answer :-Rajinikanth / ISHI®Id

42)
Question Stimulus :-

Doordarshan is managed by ? / GYGRIA &7 yae= ¥ gRI fPar Smar 82
® DD National / DD AT
* DD Bharati / DD HIRdl
® Prasar Bharati / TR YRt
® Salma Sultan / HTHT eI

Correct Answer :-Prasar Bharati / TR HIRdl

43)

Question Stimulus :-

Which deity was not worshipped by the Vedic Aryans? / ®1H-9 dadl aee® 3maf gRT [ T8} oI A2

® Indra/ %%
® Marut / HI®d

® Varun / 9¥0[

® Pashupati / tl'{[ﬂﬁ



Correct Answer :-Pashupati / UR[Ufd

44)
Question Stimulus :-

Who among the following is winner of IIFA Award 2016 for Best Actor (Female) / fada
Sy AR & T IIFA RWR 2016 Ft fasar $14 §

® Priyanka Chopra / frder dimm
® Deepika Padukone / aﬁﬂ)—[ tl'l's'ﬁﬁ:[
® Anushka Sharma / 3JSbT Tt
® None of these / 37'“?[ I aﬁ's‘ qﬁ
Correct Answer :-Deepika Padukone / SITU®T "TI_E'ﬂ'ﬁ_"I'

45)
Question Stimulus :-

Who is the newly appointed Minister for Human Resource Development? / qaﬁl“gaa ATq fasr Sare=
faera vt #1932

Smriti Irani / '\Wjﬁf gTF'ﬂ'

Prakash Javadekar / YBIRI \—:na%aw

RamdasA thavle / ITASTT 3STdal
® Anil Dave / \?rlﬁlﬁ Eﬁ

Correct Answer :-Prakash Javadekar / Y&hTRT STaS®HT

46)
Question Stimulus :-

Which country was declared Measles Free by the World Health Organization in 2016? / 2016 A fawg wrex

W6 gRT for 31 &) WIRT Yo &1 9ii¥a fomam mam 32
* Brazil/ SOl
® Argentina / 3[SISIHT
® Chile / frett
 Uruguay /3%



Correct Answer :-Brazil / STSitd

47)

Question Stimulus :-

ISRO stands for / 3M8.TH.3MR.3N (3IN) A a1y &

® Indian Space Research Organisation / ?gﬁ'ﬂFT Y fead Gﬁﬁqﬁﬁm

® International Space Research Organisation / E'E'ﬁ?l?l' oy fead Gﬁ‘ﬁ"lﬁﬁ?ﬁ

® [Indian Sponsor Research Organisation / E'%TFI iR Gﬁ"‘-ﬁﬁﬁm

® Indian Space Recruitment Organisation /3"%117'[ L L ﬂWﬁ? Gﬁl"-ﬁ'lgﬁm
Correct Answer :-Indian Space Research Organisation /3"%717'[ Y fead Gﬁl‘-ﬁﬁﬁm

48)
Question Stimulus :-

When is the “World Hepatitis Day’ observed? / ﬁ%’ %ﬂ?:’r:{ﬁv ﬁaw' Dd HATIT SITdT %?
e July 17th / a1 17
* June 27th / 57 27
e Jan 29th / S 29
e July 28th / q@Ts 28
Correct Answer :-July 28th / @5 28

49)
Question Stimulus :-

Which body is constituted in the place of Planning Commission? / ST TART & T IR fbyg
o &1 e fo5ar T 82

® Parliament /m
* N.D.C./TA.SL¥.
e NITI Aayog / el ST

® All of these /T Tt



Correct Answer :-NITI Aayog / Sidl SITART

50)
Question Stimulus :-

Which of the following rivers has its source near Ajmer in the Aravalli Range? / Frafefaa afeai 4 @ feg &1

SRTAT ¥ H SR & U Wi 82
® Luni/ A
* Mahi/ H&!
* Narmada / TTHal
* None of these / 38 & &g g1

Correct Answer :-Luni / Tt

51)
Question Stimulus :-

Name the point that lies in the first quadrant of a graph? / ﬁ'g CARGIE | a‘cn?;& S ATE & JAH ﬂﬁﬂfﬂ ¥ @

® (-4,-4)

° (4,-4)

°* (4,4

e (-4, 4)
Correct Answer :-4, 4)
52)

Question Stimulus :-

An article when discounted by 31% costs Rs.621. What was its actual price? / TP ¥ U oId 31% L] Q?C a

W, 9 ISP BT 621 T FIt B| TP AATID Teu T 82
® Rs.1310 / ¥+ 1310
* Rs.900 / & 900
® Rs.913.51 / ¥ 913.51

® Rs. 192,51 /3= 192.51



Correct Answer :-Rs. 900 / 3= 900

53)

Question Stimulus :-

The value of ( -1)105_ ( -1)104 / ( -1)105_( -1)104 H1HH

e -1

° (-1
° 1
Correct Answer :-0

54)

Question Stimulus :-

If 6x%%12=1, find the value of x / Tf& 6x5%*12=1 §, A x T A FrpIferd

Correct Answer :--2

55)
Question Stimulus :-

The example for an algebraic equation is

o (-1/4)3 x (-1/4)2

(172)2 + (1/3)% + (1/4)2

(xy +3x+2) + (3 +y)

1722+ 1/3)2 + (1/4)2 =39

. / Serroiidta IHieRur &1 T IS




Correct Answer :-(1/2)2 + (1/3)2 + (1/4y 2 = 39

56)
Question Stimulus :-

Which of the following is need not be always true for a parallelogram? / fa d & guEaR ilﬁ'{-lﬁ ¥ ford
fpaeT g2 W g srfvrard 74 B2

® Opposite sides are parallel and equal / e ‘HFITa THTAR 3R TRTER gt %
® Opposite angles are Equal / ot P RER A &
® Diagonals bisect each other / oot Td §'\‘ﬁ' &1 fqurfora ova %
® Diagonals are equal. / famof RTeR B @
Correct Answer :-Diagonals are equal. / fawof RTaR B
57)

Question Stimulus :-

What is the sum of the exterior angles obtained on producing in order, the sides of a Polygon with 10 sides? / 10

YIS & TgYS B YoIrail & IIeSpIvi o1 a1 HT 3?2
e 900’
o 720"
o 144"
e 360
Correct Answer :-360"
58)

Question Stimulus :-

The graph shows forecast of the temperature and the actual temperature of a city on ten
days. The maximum deviation of actual temperature from the forecast is
/ IT® AIHH T QHHH famar 8 3R WeR &1 gd 31 &1 arafa® auuE fR@mar 81 gdgae 3 adfa®
A= F1 fwan fagad 8




- fﬂ _
;I. "-1. i' - T
‘1 ¥ h‘ ]
1"-,- "J-;I 1"'
i Y P
® 3°¢
® 2°
® I°
® 4°
Correct Answer :-1°
59)
Question Stimulus :-
The number of times a particular observation occurs is called . Choose the
correct answer. / Ria-l IR & FAf¥a daor aRa g1 2, SA Fed & | TE W g

® Data / SICI

® Frequency / IRERdT

® Array / Troft

e Range / URNIR
Correct Answer :-Frequency / SRARAl
60)

Question Stimulus :-

Two houses with one side common wall is to be fenced. The cost of fencing is Rs.22.40
per metre. is the cost of fencing both houses. / Th X% AH AR
A S TR W BT T 31 AR T B B F22.40 Ufd Hew 21 S R B R F 2R B

FHd Bl




House 1 House 2

15 m

23 m 27 m
® Rs.3390.60 / 3= 3390.60
® Rs.3087.30 / ¥= 3087.30
® Rs.3248.00 / 3= 3248.00
® Rs.3302.40 / 3= 3302.40

Correct Answer :-Rs.3248.00 / ¥ 3248.00

61)
Question Stimulus :-

In a certain region, a uniform magnetic field exists in the direction from south to north. An
electron enters the field from east to west. The force experienced by the electron due to

the field is / &t fAfia & ¥, Toaue Jaola &7 <féor ¥ W zn & IufRa war 31 te gawe &8
# T J ufym &1 3R et 81 &F b FRU sATE GRT He W frar WM aren ad ghm

® towards north / STIR BI 3MIR
® towards east / QX9 CIReInd

® upwards / HUT B 3R

* downwards / I ®T 3R

Correct Answer :-upwards / $UR 1 3R

62)
Question Stimulus :-

Acid rain is caused by SO> and NO5 gases present in polluted air. The pH of acid rain will be

about / 3% quf T HRUI Ugfa gar & IufRIT SO, 3R N0, T §1 3 auf B} pH FTHT Fa-t gift
° 1.6

® 5.2



° 10
Correct Answer :-5.2
63)

Question Stimulus :-

The work done by a man in lifting an object of mass 5 kg to a height 50 cm from the

ground level is ( g = 10 ms™2) / 5 SR SUM H1 9¥g &1 THH & TR & 50 T $t SHAT8 9P
o[ A Te wfad gRT far T 1 BT 8( g = 10 ms2)

® 25N

® 2500)

® 25)

® 25)
Correct Answer :-25)
64)

Question Stimulus :-

The Laboratory in India which maintains the standards of Sl units and calibrates the national standards of weights and
measures / HIRd H WORTRITET SIY wanésmgu‘r%?trmaﬁaﬁ AT Tt % 3R gorAl QH'FITCﬁ %?T@T[
TS BT SR FAT 3

® National Physical Laboratory, New Delhi /?T@TI' Wifas m?ﬁ, =F.=§ ﬁ'ﬁ‘ﬁ

® National Chemical Laboratory, Pune /?T@Tl TS YIRTRITT, Eﬁ

® National Testing Laboratory Pvt. Ltd, Delhi /?T@'q o wahT=ITE LTIE%E ﬁ'lﬁl%g, feeem

® Naval Physical and Oceanographic Laboratory, Kochi / T Hifae sk Wﬂ?ﬁﬁ'l‘ﬂ'q WTQ'IWIT, A
Correct Answer :-National Physical Laboratory, New Delhi /?T@'q Wfae m, =I§ ﬁc_vﬁ
65)
Question Stimulus :-

The composition of Aqua Regia is / Wﬁfﬁm%
e Conc.H,S04 and Conc. HCI in ratio of 1:3 / |i§ H2S0,4 3R Wig HCI 1:3 & 3UTd &

* Conc.HNOj3 and Conc. HCI in ratio of 1:3 / Hi% HNO3 3R Jig HCI 1:3 & 3ud o



e Conc.HNOj3 and Conc. HCl in ratio of 3:1 / Jig HNO3 3R % HCI 3:1 & U |
® Conc.H,S0,4 and Conc. HNOj is ratio of 3:1 / Hi% H,S0, 3R i HNO3 31%F SIUTd H

Correct Answer :-Conc.HNO3 and Conc. HCI in ratio of 1:3 / Jig HNO3 3R Tig HCl 1:3 &
ELIGR:S

66)
Question Stimulus :-

Identify a heterogeneous mixture out of the following / 719 # & fawwitft frgror &t yg=nfae
® Blood plasma / ¥R GATSTHT
o Milk/gY
° Brass/TﬂTﬁf
® Soil / Hal

Correct Answer :-Soil / {al

67)
Question Stimulus :-

Which of the following is a prerequisite for “"Natural Selection” to occur? fad w

“ATpfae Ta” & EH & g Ued & smavas W B M 82
e Genetic variation 3Taif¥®/ faftrsar
e Isolation / 3{cild
e Migration / RIHIARUI
e Phenotypic variation / &=l fafirear

Correct Answer :-Genetic variation 3TJdiR%/ fafimar

68)
Question Stimulus :-

Which structure of the body is affected in case of osteoporosis and osteomalacia.

ATRGRRET 3R/ AfRYgaT F 1 A INR Ft i At Tva=n yuifaa gt 8
* Bone TIl/

e Blood vessels / Yad aIfgHIC



e Skin ddl/

® Eyes / EF|
Correct Answer :-Bone §Sl/
69)

Question Stimulus :-

10% of the bases in a DNA molecule are guanine. What could be the % of Thymine /:‘ﬂ'll{'"'l'q 3] T 10 % &R
A 81 feae o g 8 oar @2

® 40%

* 80%

* 20%

* 10%
Correct Answer :-40%
70)

Question Stimulus :-

The concept of Natural selection was first given by / UIT&W‘T T P ATYURUN JAUYH & GRI
& 5

® Charles Darwin / ?I'IT"T'[ SRfaF

® Jean Baptiste Lamarck / S+ afpee qurdh
® Hugo De Vries /Emﬁ St argy

® John Gregor Mendel /S R dsa

Correct Answer :-Charles Darwin / ITeid SRIA

71)

Question Stimulus :-

?:m—r:_E ?:m—rr_z

Tm + 2m + .
If "7 > then which of the following is true? / a2 "~ " °  qafmff@add R
I 82

®* m=n



®* m>n

* m<n

®* None
Correct Answer :-m = n
72)

Question Stimulus :-

The average salary of worker in a factory is Rs. 8000.The average salary of 7 managers is
Rs. 6000 and the average salary of the rest is Rs. 6000.The total number of employees is? /

TP PRAM H HHAR Bt 3T 8000 FUT 3| 7 A-oRI B 3fd 3T 6000 FUT g 3N qTht ART B
3RIT 3T 6000 FUY 7 | FHANA BT & J=T fHa-il 82

® 30
° 32
® 35
° 38
Correct Answer :-30

73)

Question Stimulus :-

Mallesh said to his son, “ I was as old as you are at present at the time of your birth”. If the Mallesh’s age is 40

years now, the son’s age five years back was: / TR A arq%é%ﬁw, “WW%W% an‘ga?fm'rrﬁ
IR Mg & T i1 afe el Aeerw &t 3mg 40 a9 B, A Ui ATl U WS @t 3y At

® 10 years/ 10 af
® 12 years / 12 CL
® 15 years / 15 CL
e 17 years / 17 ¥
Correct Answer :-15 years / 15 ¥

74)

Question Stimulus :-

A person was asked to state his age in years. His reply was, “Take my age five years hence, multiply it by five and
then subtract five times my age five years ago and you will know how old I am”. What was the age of the person? /



TS Afead A i A IS MY YSt A <t | ITHT S1are U1, “ui" a9 q1¢ arelt A g A, S9! uiw A
o H¥A 3R AT uiw A1 A3 31y A Ui I1a ued arelt AN} 3y Y ger SIS SR Smuspt uar I« S
& At oy fopait 3" | aafaa &t oy fast &
® 40 years / 40 94
e 50 years / 50 94
e 60 years / 60 94
e 70 years / 70 94
Correct Answer :-50 years / 50 94
75)
Question Stimulus :-
11/4% of 64 s / 64 T 1147 &:
* 1%
* 210
* 176
* 180

Correct Answer :-176

76)
Question Stimulus :-

1/8th of 400 is how much less than 2/5th of 200? / 400 &1 1/8, 200 ¥ 2/5% A fbaT FH
2

° 30
° 40
® 60
®* 70
Correct Answer :-30

77)



Question Stimulus :-

Mohan bought 5 dozen eggs at Rs. 20 per dozen, 7 eggs were broken. Find his percentage loss. / 'Fﬁﬂq 20 ™qu

ufd goid | 5 9ol 33 W1, 7 313 ¢ g A1 Iu! ufa=ia s1fy 91a H¥|
® 11.62%
® 12.65%

® 13.16%

® None of the above / SURTSRT aﬁi i :l'a

Correct Answer :-11.62%

78)
Question Stimulus :-
Fill in the missing alphabets / T4 &R URT

a_ab__aaba_ b___

® ab,ab

® aaab

® b,b,b,a

® b,a,b,a
Correct Answer :-b,b, b, a
79)

Question Stimulus :-

14% of 800 is / 800 BT 14% B:
° 136
° 146
o 112
e 158

Correct Answer :-112

80)



Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 IR al & A o9 91 1 RA 10 1d & vHeH A 8] 82

United States Canoe and Kayak Team
E-Mail: usckt@aol.com

Indianapolis, Indiana

(317) 237-5690

(800) 733-4976

(i) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(ii) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(iii) United States Canoe and Kayak Team
E-Mail: usckt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(iv) United States Canoe and Kayak Team



E-Mail: usakt@aol.com
Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

® iii

® iv
Correct Answer :-iv
81)

Question Stimulus :-

The series given below contains a sequence of alph_abets and numbers. Identify.the
incorrect combination: / 1A & 75 @@ & 3rerl MR Wwme &1 wu AWfa 31 Tad waeH
UgdIe:

i. df8o7e6uwz ii. df8o7e6uwz
iii. df8o7e6uvvz iv. df8o7e6uwz
° j
® ii
® iii
* v

Correct Answer :-iii

82)
Question Stimulus :-

The speed of a car increases by 5 km after every one hour. If the distance traveled in the first one hour was 45

km, then what is the total distance traveled in 7 hrs? /ﬁ@ﬂ%%qﬂﬁmﬁﬂﬁfﬁ Swﬁﬁ@?ﬂél
gfe ugd Ue °e | au 3t TS git 45 fomft i, @Y 7 € A 99 9 1€ pa g samn w2

® 400 km /400 T+

® 350 km /350 fpH



* 380 km /380 fo5f

e 420 km / 420 fi
Correct Answer :-420 km / 420 f&ft
83)

Question Stimulus :-

Gopal takes 70 milky bars at Rs.2 each 50 Cadbury at Rs.10 each; and 90 perks at Rs.5. How much discount will
get at 5%? / UTA UL 2 TP & ed | 70 et IR, T 10 TS & od § 50 HSAN; TUT T 5
TS & Ted | 90 TP AdT 31 5% DI &% W I fPpa-it ge urw gift?

® 54.50

® 50.50

® 60.50

® 70.50
Correct Answer :-54.50
84)
Question Stimulus :-

Find the next term in the series 1,4,10,22,46, ___/ 9Gal § 3[TAT UG [T BITST 1,4,10,22,46,
° 68
o 48
e 12
° o4
Correct Answer :-94
85)
Question Stimulus :-

Find the next term in the series. / oaer o SITdT Uq JTd Hﬂﬁﬂ'{l

6,12, 30, 84, 246

e 732



° 832

® 944

® 748
Correct Answer :-732
86)

Question Stimulus :-

In a certain language ‘veny heny steny’ means ‘get out man’ and ' steny shomy shelt’
means ‘out of danger’. Then in that language the word ‘steny’ is used for: / o<t @ g v o
‘veny heny steny’ &I Hddd % ‘get out man’ 3R steny shomy shelt’ &1 Hddd % ‘out of
danger’| df 3T YT H T ‘steny’ FHF forT WaNT gl 8:

® danger

® man

® out

® of
Correct Answer :-out
87)

Question Stimulus :-

In the sequence shown below, which figure comes next? / i fewrd T wu A srTett Gﬂ?ﬁf P9 ghft?




Correct Answer :-

88)
Question Stimulus :-

Two people, P and Q are married to each other. E and F are brothers. If E is P’s brother,

then, how is F related to Q? / 3l @NI, P 3R Q T® gI & MMI-Y[aT 31 E 3R F uTS &1 A E, P &1
i ®, @), F, Q ¥ ¥ Hafla 22

® Brother-in-law / aa?'

® Sister-in-law / %aw—ﬂ

® Sister / ded

® Cannot be determined / qﬁ T forar <1 g@dr
Correct Answer :-Brother-in-law / 3%
89)

Question Stimulus :-

M # N means that M is the wife of N/ M # N #THdad ¢ f& M, N 1 Ul &



M @ N means that M is the brother of N/ M@ N ®THdAd g fF M, N BT 4TS &
M % N means that M is the father of N/ M % N ST Haaa g f& M, N & e &
M - N means that M is the sister of N/ M- N #THdad ¢ f& M, N &1 989 @

M =N means thatM ismarriedtoN/ M = Nmﬂ?ﬁﬁéﬁ? M, Nﬁ?l'lﬁ‘{]ﬂ'[%

If the relationship between P and T is representeq.as P#Q@R % S - T, then, which of the
following is always TRUE? / R PR THF T FTHIUP# Q@R % S - T A cxfar mur g, &Y, Ay
H A P T FHRM T FRIT?

e P is the father-in-law of S. / P, S & G{qR &1
e Sis the daughter-in-law of Q. / S, Q 1 9§ &I
e Qistheuncleof T. / Q, T & 3i®d 2|
® Tis the nephew of Q. / T, Q FT Hdlen 2|
Correct Answer :-Q is the uncle of T. / Q, T & 3i®d &l

90)
Question Stimulus :-

A is married to C. F is B’s brother. D is A’s daughter. E is C’s brother. B is C’s son, but C is not B’s mother. Who
is B’s mother? / A, C ¥ RITSI-ST 81 F, B T UTS 81 D, A Bt 8¢ 1 E, C BT UTS &1 B, C FT deT &, Afp
C, B 9 HTdT 8l 81 B B! HIAT B 82

Correct Answer :-A

91)
Question Stimulus :-

Which of the following is the mirror image of FOLDER? / BE] # ¥ P19 AT FOLDER BT ETfUT ufafaw %’

EODDEE

EOT'DEE



EOODEB

BEEOI'D

Correct Answer :- LOTDEE

92)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If the third word has to have the
similar relationship with the fourth word, the fourth word will be: / Frauy ﬁ, tl_elﬁ Rlogq BT W o & 91y
freft PR A FI5 Jau 31 afe TR WU &1 N s F 1Y IH YHR &1 Gy AT AT, ) N7 U

g
Lucid : Obscure :: Evasive : ? / wﬁm{ HEC £t L QWE'Q:UT 1 ?
® Free / Hod
® Honest / g'qﬂ'c."l?
® Liberal / m
® Frank / e

Correct Answer :-Honest / SHTER

93)

Question Stimulus :-

In how many different arrangements can 5 men and 5 women sit around a table so that no two men sit together? /

&Y foraft e srawarelt #, Te 39 & AT 5 (50 Ud 5 Aigae o6 9@d § & 315 ot gl gea arya 9432
* 5040
* 2520
* 2880
* 1440

Correct Answer :-2880

94)

Question Stimulus :-



Mona goes for a walk from her house towards West. After walking 30 m she turns right and walks 20 m. She then
turns left and moves another 10 m, before turning left again and walks 40 m. She now turns to the left and walks 5

m. She then turns to her left. Find out the direction in which she is walking now? / T U+ W) § uf3y &t
3R egeq & fore oIt 81 307t Ua gem & a1¢ 98 o god! @ 3k 204! Tad 81 fFe 9 9 &R
Hedt € iR g: 90 SR HS & g =g 10+t Terd! 2, 3R 40+ Aqet Terd) 21 39 98 9 g @
3R 5} Tart g1 98 fpe 3rA Ird gedt 31 ag famn fHrefee A ag et 9@ & @2

® North-West / IAR-Uf3H

o East/qﬁ

® North / 3R

® South-East / EF&I'UT-Q\&

Correct Answer :-North / 3T

95)
Question Stimulus :-
The question is based on the following arrangement. / U4 g sgaxT W enmutfya %I

W1R%4JE#7MT219BH3AS9FQ5DG6USP

If the order of the last fifteen elements is reversed, which of the following will be the fifth to the right of twelfth

fromtheleftend?/ﬁ&@ﬁﬁ%ﬁﬁﬁﬁlﬂﬁ&ﬁﬁ%ﬁﬁ,ﬁmﬁﬁﬁqmwmﬁ
IREd I Y 3R uT=ar g

Correct Answer :-U

96)
Question Stimulus :-

Select the statement which is logically equivalent to the given statement: / dg ®Y- gﬁr& S 9@ ot efke A ﬁa
™ $YT S GUH g

No athletes are lazy. All basketball players are athletes. /aﬁé TYdte et T8l g1 g+t aifsee ara 1%&11@1
wydlie Bl

® No basketball player is lazy. /aﬁé Wt arfpe ata f%?n?ﬁ STt T-I'eﬁ %I



® All basketball players are lazy. / g+t arfepe ara m 3Tt %.I

® Some basketball players are lazy. / PO gTf&pe 9id m STt %'I

® None of the above. / SURTa ﬂﬁ'sc T-I'E»pfl
Correct Answer :-No basketball player is lazy. / @5 H 91f&pe aid fRaarst et =8Y gl
97)

Question Stimulus :-

Select the statement,which is the logical equivalent to the statement given below: / dg DY gﬁr& S 9& @t efte

¥ f§8 ™ 9T F 99 §:

It is not true that both Rama and Ravana fought the battle. / 9% I qﬁ % f I\ 3R IquT E‘ﬂ:ﬁ Ci g dsTl
® Rama fought the battle and Ravana fought the battle / XTH C] g& ddsT 3R 39T A g dsl
® Rama fought the battle and Ravana didn’t fought the battle. / ITH 1 g dsi 3R Irqur F & qﬁ asTl
® Rama didn’t fought the battle and Ravana fought the battle. / YTH a J& qﬁ st 3R Irqur A J& sl
® Rama fought the battle or Ravana fought the battle. / ITH = Y& ST g1 MAuT =4 Y& STl

Correct Answer :-Rama fought the battle or Ravana fought the battle. / I = g& TST AT I[AUT H T&
ST

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg oo ﬂﬁ'&
St fad T wyAl iR frewut & IR | WE &

Statements: / ®Y:

All candles are horses. / 4 AiHafm@l 91 g1
Some bells are not candles. / $© uftear HiuaRmr T81 3|

Conclusions: / fAwsd:
i. All bells are horses. / 9! gftear giS &1
ii. Some bells are horses. / $© gfteal 913

® Only conclusion I follows / pad ey 1 fFradr %



e Only conclusion II follows / Bad fased 11 fAwadar &
® Both conclusion I and II follows /ﬁwcf 1 Gﬁ? 11 Eﬁtﬁ ﬁao—d?r %

e None of the conclusion I and II follows / fTs®d I Gﬁ?’ n#d ﬁé ot qﬁ IGEASGI %
Correct Answer :-None of the conclusion I and II follows / FI5pd 1 IR 11 & & aﬁ's‘ Wt 7Y Frpaar &

99)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁ'a
S i3 T YA R el F I F T @

Statements: / ®Y:
All roads are baskets / 94 H8& clwRal g
Some roads are windows / $© Js& fQsfbal &

Conclusions: / fH:
i. Some baskets are windows / $ cIRal fasieal &
ii. Some windows are baskets / $© f&sfaar ctwial &

® Only conclusion I follows / Had ey 1 fAeadar %

® Only conclusion II follows / Fad ey 11 fReaar %

® Both conclusion I and II follows /ﬁwﬂf I 3ﬁ? 11 Eﬂtﬁ ﬁlﬁ% %

® None of the conclusion I and II follows /ﬁl’ﬁﬂf | Gﬁ?’ 11 ﬁ ﬁ ﬁé ‘1-ﬁ qﬁ ﬁib_c‘l?ﬂ %

Correct Answer :-Both conclusion I and II follows / F-Is®d 1 3R 11 aT'ﬁ ffread %

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁ'&
S 3 T YA R Frewsf & I § I @

Statements: / ®Y:
All bottles are iron / T4 dida algT @

Some bottles are paper / $T dldd BT &



Conclusions: / fAwsd:
i. Some iron are paper / W?ﬁ%m%

ii. Some paper are iron / $9 PN dle 3
® Only conclusion I follows / Had fAsed 1 AP adar %
® Only conclusion II follows / ad sy 11 fAwaar 8
® Both conclusion I and II follows / fs# 1 3R 11 G FPeaa &
® None of the conclusion I and II follows / fTs®d I Gﬁ? nAd ﬁ'{ ﬂﬁ Fredar %

Correct Answer :-Both conclusion I and IT follows / s ¥ 1 3fR 11 4 fArpea &



